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1. A sample of a solution containing 100 grams of copper (II) chloride is reacted with a solution
containing 40 grams of sodium hydroxide.

m Write the balanced chemical equation for the nomocos using the state m%gwo_m

SHp L e
O\% 2.( 9&; N ,f,,wﬁw mz\w Veaa ‘w

TN
<
-»?».
'\...««*"/‘

3“"

\\\ho\mz -y ?{; ﬁﬁﬁﬁﬁ A Zm{,ﬁ & @ regin ﬂ,%mwu W\MW@ ,@, m\m ,,,,,,,,,,
Tl .)m 1 '

Oz Cul 4] ot DH

= —= 0. tkwol (a1, oz, || el Ned

/w{,« ue \&m | - L

%wa @Q\WQ »M%z 3
w. ]
b. Determine the mass in grams of each product produced and the amount of the excess reactant Emﬁ Q m

remains.
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4. Ina container, 100 grams of iron is combined with 100 grams of oxygen to form iron (II) oxide.
a. How much iron (II) oxide is produced?
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5. Seventy grams of silver are allowed to react with 50 grams of bromine to form silver bromide, a
compound found in eyeglass lenses.
a. How much silver bromide is produced?
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b. Which element is the limiting reactant? \ @V\ N\ o
9 o < m ; %
c. ané E:QM ﬁm x%o mowoomm reactant %\v,mm not react’ = b OOQ ¥ w A \ ,HV \\Mw
0.2l o (2wl hey | 1677, 99 - % Qx reacked X Q\\

m ﬂ ol Br. / lwvol g 70 e



&

e,
P,
f

jSel

A

%\ \ \ (st Eu&og B JeyMm noge yuIy |, :_m (i1 An snp) Juswnadxo
&5 10 pletk 1ua0ad oYy ST JBYAN "O[GIONIO AU} UI SPIXO WnUIN[E PI[os Jo 3 (09 seonpord ayg 'q

o D G
Q ,,,,,,,,,,, \@M\\%mw\ﬁ \ J\ EEN \,\y 4| M 1 © QQ:

" Ty ST 1uejoral chE: oy 1e1y} uaAId ‘oonpoid
AJpa112.4021 PNOJ AYS o?xo WNUITIN]E YONU MOY 10] SA]OS 0} uonjenbo paduereq oY) 9s() B

=) \W\\ «— 7o+ |V 1V /7 €OV ‘OpIX0 wnuIume
sonpoid 03 JouIng uasung 8 A0 e () WOIJ ¢ $S3IX1 Ul [ JO 8 0091 suinq wm:cu:o < .m N Z@v@
« S

(€50 7 S

. ,%S | \W\\

-areydsoyd winireq jo swield 000¢ 5:5 SI %:oEo EEvOm Jo mEEw 0001 mu@sﬁﬁou EoEanxo puy

¢ iy s smt\f\m G \ ;@ § &
3 2l x\? \ N\/\ \
JSurewial 9 mu‘om®~ 'ssa0X2 Yl ,wO &oﬂﬁﬁ MOF 'O

N
= da
o
- Q
X
ik
>
3
(3 ]
{
\n
IS\

\um Jueoeal Junruiy oyl st ey 'q

\Q :&r arcd \ V ;Mu

A\ aﬁ L &k\
7 R Qtﬁ (w

A,a\,/\ T e w\f\ t

pauIo] St opLiIu wnissejod yonuw Mo e
"pawLIo)
s1 opryu winissejod pue usBou Jo swerd 7 M pauIquiod sI winissejod Jo sweld ()¢ “ISUIRIUO0D B U]

( SUTBTIQI JUBJOBAT SSOIXI 31} JO Yoniwi MOH ‘O

IRe

9

5\‘



